Name:

Period:

Waves-Wave Behaviors

While playing, two children create a standing wave 4. A sound of constant frequency is produced by the si-
in a rope, as shown in the diagram below. A third ren on top of a firchouse. Compared to the frequen-
child participates by jumping the rope. cy produced by the siren, the frequency observed by a
e T firefighter approaching the firchouse is
P < h N 1. lower
2. higher
I‘ ‘l 3. the same
| | 5. 'The superposition of two waves traveling in the same
k 430m . medium produces a standing wave pattern if the two
' : waves have
What is the wavelength of this standing wave? 1. the same frequency, the same amplitude, and
1. 215m travel in the same direction
2. 430m 2. the same frequency, the same amplitude, and
3. 6.45m travel in opposite directions
4. 8.60m 3. the same frequency, different amplitudes, and
travel in the same direction
The diagram below shows two pulses approaching 4. the same frequency, different amplitudes, and
each other in a uniform medium. travel in opposite directions
1 {]T cm 6. 'The diagram below represents a standing wave.
5cm
- -
Which diagram best represents the superposition of The number of nodes and antinodes shown in the
the two pulses? diagram is
1. 4 nodes and 5 antinodes
7.5cm Im 5cm| m 2. 5 nodes and 6 antinodes
(1) (3) 3. 6 nodes and 5 antinodes
4. 6 nodes and 10 antinodes
7. A car’s horn is producing a sound wave having a
15Tcm /[ \ constant frequency of 350 hertz. If the car moves
toward a stationary observer at constant speed, the
5cm frequency of the car’s horn detected by this observer
(2) (4) may be
1. 320Hz
2. 330Hz
Sound waves strike a glass and cause it to shatter. 3. 350 Hz
This phenomenon illustrates 4. 380 Hz
1. resonance
2. refraction 8. Standing waves in water are produced most often by
3. reflection period water waves
4. diffraction 1. being absorbed at the boundary with a new
medium
2. refracting at a boundary with a new medium
3. diffracting around a barrier
4. reflecting from a barrier
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9. 'Two pulses, A and B, travel toward each other along | 10. A car’s horn produces a sound wave of constant

the same rope, as shown below. frequency. As the car speeds up going away from a
2 v stationary spectator, the sound wave deteced by the
spectator
[\ 1. decreases in amplitude and decreases in fre-
+1 i quency
o 2. decreases in amplitude and increases in fre-
50 p quency
X . . . .
N B/ 3. increases in amplitude and decreases in fre-
-1 P quency
v 4. increases in amplitude and increases in fre-
-2 quency

When the centers of the two pulses meet at point X,
the amplitude at the center of the resultant pulse will | 11. Playing a certain musical note on a trumpet causes

be the spring on the bottom of a nearby snare drum to
1. +1 unit vibrate. 'This phenomenon is an example of

2. +2 units 1. resonance

3. 0 2. refraction

4. -1 unit 3. reflection

4. diffraction

A system consists of an oscillator and a speaker that emits 1.00m ;
a 1000-hertz sound wave. A microphone detects the sound ' |

wave 1.00 meter from the speaker. | I C}:

e} e}

12. Which type of wave is emitted by the speaker? Oscillator Speaker Microphone

1. transverse
2. longitudinal

3. circular

4. electromagnetic

13. The microphone is moved to a new fixed location 0.50 meter in front of the speaker. Compared to the sound
waves detected at the 1.00-meter position, the sound waves detected at the 0.50-meter position have a different
1. wave speed
2. frequency
3. wavelength
4. amplitude

14. The microphone is moved at constant speed from the 0.50-meter position back to its original position 1.00 meter
from the speaker. Compared to the 1000-hertz frequency emitted by the speaker, the frequency detected by the
moving microphone is
1. lower
2. higher

3. the same
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15. Two pulses traveling in the same uniform medium 18. 'The diagram below shows two pulses traveling

16.

17.

approach each other, as shown in the diagram below.
— -,

AN N

Which diagram best represents the superposition of

the two pulses?
(3)
AN
(4)

(1)

_

(2)

'The diagram below shows a standing wave.

toward each other in a uniform medium.

<\

-—

Which diagram best represents the me-
dium when the pulses meet at point X?

(1) .
X

(2)

(3)

(4)

!
%

19. A dampened fingertip rubbed around the rim of a
crystal stemware glass causes the glass to vibrate and
A produce a musical note. This effect is due to
. ) ) 1. resonance
Point A on the standing wave is .
) .. 2. refraction
1. anode resulting from constructive interference .
) .. 3. reflection
2. anode resulting from destructive interference ]
] ) .. 4. rarefaction
3. an antinode resulting from constructive interfer-
ence . . . .
. . o 20. 'The diagram below shows a standing wave in a string
4. an antinode resulting from destructive interfer-
ence clamped at each end.

A source of waves and an observer are moving rela-
tive to each other. The observer will detect a steadily
increasing frequency if

1. he moves toward the source at a constant speed
2. the source moves away from him at a constant
speed

he accelerates toward the source

4. the source accelerates away from him

©

What is the total number of nodes and antinodes in
the standing wave?

1. 3 nodes and 2 antinodes

2. 2 nodes and 3 antinodes

3. 5 nodes and 4 antinodes

4. 4 nodes and 5 antinodes
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Waves-Wave Behaviors

A radar gun can determine the speed of a moving
automobile by measuring the difference in frequency
between emitted and reflected radar waves. This
process illustrates

1. resonance

2. the Doppler effect

3. diffraction
4

refraction

A 256-hertz vibrating tuning fork is brought near
a nonvibrating 256-hertz tuning fork. The second
tuning fork begins to vibrate. Which phenomenon
causes the nonvibrating tuning fork to begin to
vibrate?

1. resistance

2. resonance

3. refraction

4. reflection

'The diagram below represents two pulses approach-
ing each other from opposite directions in the same

medium.
N O\
[ -—

Which diagram best represents the medium after the
pulses have passed through each other?

77

24. The diagram below shows two waves traveling in the

25.

same medium. Points A, B, C, and D are located
along the rest position of the medium. The waves
interfere to produce a resultant wave.

+0.30

+0.20

+0.10

0 B Rest Position
of Medium

-0.10

-0.20 \ /

-0.30

Displacement (m)

'The superposition of the waves produces the greatest
positive displacement of the medium from its rest
position at point

1. A
2. B
3. C
4. D

'The diagram below represents a wave moving toward
the right side of this page.

/\/\

—_—
Which wave shown below could produce a standing

(1) wave with the original wave?
VA TN (1) (3)
(2)
_\—/ — e
= \J (2) (4)
_—
(3) 26. Which wave phenomenon occurs when vibrations in
one object cause vibrations in a second object?
1. reflection
_U U_ 2. resonance
3. intensity
4. tunin
(4) ‘ 8
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Base your answers to questions 27 and 28 on the information below.

One end of a rope is attached to a variable-speed drill and the other end is attached to a 5.0-kilogram mass. The
rope is draped over a hook on a wall opposite the drill. When the drill rotates at a frequency of 20.0 Hz, standing
waves of the same frequency are set up in the rope. The diagram below shows such a wave pattern.

A f=20.0Hz

d — . —

AN EELDriIIﬁI"

/ —

7 e 3.0m > TE
5.0 kg

27. Determine the wavelength of the waves producing the standing wave pattern.

28. Calculate the speed of the wave in the rope. [Show all work, including the equation and substitution with units.]

Base your answers to questions 29 and 30 on the information below.
Shattering Glass

An old television commercial for audio recording tape showed a singer breaking a wine glass with her voice. The ques-
tion was then asked if this was actually her voice or a record- ing. The inference is that the tape is of such high quality
that the excellent reproduction of the sound is able to break glass.

This is a demonstration of resonance. It is certainly possibly to break a wine glass with an amplified singing voice. If the
frequency of the voice is the same as the natural frequency of the glass, and the sound is loud enough, the glass can be
set into a resonant vibration whose amplitude is large enough to surpass the elastic limit of the glass. But the inference
that high-quality reproduction is necessary is not justified. All that is important is that the frequency is recorded and
played back correctly. The waveform of the sound can be altered as long as the frequency remains the same. Suppose,
for example, that the singer sings a perfect sine wave, but the tape records it as a square wave. If the tape player plays
the sound back at the right speed, the glass will still receive energy at the resonance frequency and will be set into vi-
bration leading to breakage, even though the tape reproduction was terrible. Thus, this phenomenon does not require
high-quality reproduction and, thus, does not demonstrate the quality of the recording tape. What it does demonstrate
is the quality of the tape player, in that it played back the tape at an accurate speed!

29. List two properties that a singer’s voice must have in order to shatter a glass.

30. Explain why the glass would not break if the tape player did not play back at an accurate speed.
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31. The diagram below represents two waves of equal amplitude and frequency approaching point P as they move
through the same medium.

As the two waves pass through each other, the medium at point P will
1. vibrate up and down

2. vibrate left and right

3. vibrate into and out of the page

4. remain stationary

Base your answers to questions 32 and 33 on the information and diagrams below.

'The vertical lines in the diagram represent compressions in a sound wave of constant frequency propagating to the
right from a speaker toward an observer at point A.

Speaker_p[ﬂ ‘ ‘ ‘ ‘ A

| | | | | | |
0 10 20 30 40 50 6.0

Distance (meters)
32. Determine the length of this sound wave.

33. The speaker is then moved at constant speed toward the observer at A. Compare the wavelength of the sound
wave received by the observer while the speaker is moving to the wavelength observed when the speaker was at rest.

34. The diagram below represents two pulses approaching each other.
— —

[ 1

Which diagram best represents the resultant pulse at the instant the pulses are passing through each other?

(1) (2) (3) (4)
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35. 'The diagram below shows two pulses of equal amplitude, A, approaching point P along a uniform string.

—
:9“:.[:."":‘%
s * P
et — W unlnm»,': — — ?.-nm
N,
gy
‘_
When the two pulses meet at P, the vertical displacement of the string at P will be
1. A
2. 2A
3. 0
4. A/2
36. A student in a band notices that a drum vibrates 39. Wave X travels eastward with a frequency f and am-
when another instrument emits a certain frequency plitude A. Wave Y, traveling in the same medium,
note. This phenomenon illustrates interacts with wave X and produces a standing wave.
1. reflection Which statement about wave Y is correct?
2. resonance 1. Wave Y must have a frequency of £, an amplitude
3. refraction of A, and be traveling eastward.
4. diffraction 2. Wave Y must have a frequency of 2f, an ampli-
tude of 3A, and be traveling eastward.
37. A train sounds a whistle of constant frequency as 3. Wave Y must have a frequency of 3f, an ampli-
it leaves the train station. Compared to the sound tude of 2A, and be traveling westward.
emitted by the whistle, the sound that the passengers 4. Wave Y must have a frequency of f, an amplitude
standing on the platform hear has a frequency that is of A, and be traveling westward.

1. lower, because the sound-wave fronts reach the
platform at a frequency lower than the frequency = 40. Two waves traveling in the same medium and having

at which they are produced the same wavelength ()) interfere to create a stand-
2. lower, because the sound waves travel more ing wave. What is the distance between two con-
slowly in the still air above the platform than in secutive nodes on this standing wave?
the rushing air near the train 1. A
3. higher, because the sound-wave fronts reach the 2. 3n4
platform at a frequency higher than the frequen- 3. M2
cy at which they are produced 4. M4
4. higher, because the sound waves travel faster in
the still air above the platform than in the rush-  41. Two waves having the same amplitude and frequen-
ing air near the train cy are traveling in the same medium. Maximum
destructive interference will occur when the phase
38. A girl on a swing may increase the amplitude of the difference between the waves is
swing’s oscillations if she moves her legs at the natu- 1. 0°
ral frequency of the swing. 'This is an example of 2. 90°
1. the Doppler effect 3. 180°
2. destructive interference 4. 270°
3. wave transmission
4. resonance
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42. Which phenomenon occurs when an object ab-
sorbs wave energy that matches the object’s natural

frequency?

1. reflection

2. diffraction
3. resonance
4. interference

43. When observed from Earth, the wavelengths of light
emitted by a star are shifted toward the red end of
the electromagnetic spectrum. This redshift occurs
because the star is

1.

2.
3.
4

at rest relative to Earth

moving away from Earth

moving toward Earth at decreasing speed
moving toward Earth at increasing speed

Period:
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